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Cluster: 0211 ptr; resid: 0.25; r/c: 28/82

x.range

upstream meme PSSM #1; e=1.2e+04
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upstream meme PSSM #2; e=2.3e+04
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46336

46455

46850

49214

7072

9617
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26815NA
33977−0.05
45657−0.05
35318−0.06
34647−0.13
31984−0.16
34964−0.19
33839−0.22
43715−0.26
44702−0.50
34656−0.79
49214−1.38
45795−1.40
43770−1.66
46455−1.88
46336−2.32

7072−2.75
17335−2.75
46850−2.80
12265−3.72
43583−3.88
11390−4.39

9617−4.48
43150−4.52
35638−5.15
45726−5.47
45250−5.99
46142−9.01

log10(P) upstream meme1 2 log10(P.clust)=−2.44; 28 seqs; 28 uniq
c(0.5, 2.5)
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